KARCHER

30 Motor
Professional \ Hi

Page1/2

Valid on 23.07.2021



30 Motor

Professional \ High pressure cleaner cold water \ Electric motor \ HD 10/25-4 S Plus *EU-II \ Spare parts list HD 10/25 S \ Motor

POS

© 00 N O U1 A W N

=
= O

N N N N NNR R R B B B2 B
u A W N P O O WO N O UL W N

Article no.
7.303-108.0
5.064-457.0
5.070-604.0
6.362-526.0
5.411-100.0
6.362-028.0
7.367-009.0
6.401-225.3
7.318-035.0
5.115-565.0
7.306-041.0
7.312-159.0
4.120-240.0
5.802-288.0
5.767-005.0
5.064-006.0
6.303-515.0
6.343-010.0
6.401-253.0
7.303-031.0
4.623-457.0
6.288-016.0
6.642-011.0
7.303-110.0

Valid on 23.07.2021

Description

Screw 5x20 -10.9-R2R (In6Rd)

Cover plate qusty grey oil

Tank

O-Ring seal 29,1 X 2,55 -NBR 70

Screw plug

0O-Ring seal 11x2,2 NBR 70

Radial shaft seal ring A35x52x7-NBR DIN
Taper roller bearing 41

Parallel key 8x7x25 -C45K DIN 6885-1
Washer

Cylinder head screw M8x20 -8.8-A2E ISO
Toothed lock washer A8,4-FSt-PH DIN 6797
Wobble plate -nur flr Ersatz-

Mounting part

Rubber buffer

Bearing cover B

Self-tapping screw M6x25

Tolerance ring 62x10

Ball bearing 6305-2Z

Screw M4x10 -St-P2R (In6Rd)

Motor complete only for replacement
Gear oil 1L

Insulating hose 10

Screw 5x35 -10.9-R2R (In6Rd)

Quantity

A H N R B R R BMRDMDRRRBRRBRBRERBENNRRRR

Page2/2

Unit
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC

PC

Foot note text

TO ORDER AS CUT GOODS

KARCHER


http://www.tcpdf.org

